

# Education Quarterly Reviews

Işık, Metin, and Bahat, İsa. (2021), Analyzing School Attachment of Secondary School Students' for Regards to Various Variables. In: *Education Quarterly Reviews*, Vol.4 Special Issue 1: Primary and Secondary Education, 571-583.

ISSN 2621-5799

DOI: 10.31014/aior.1993.04.02.267

The online version of this article can be found at: https://www.asianinstituteofresearch.org/

Published by:

The Asian Institute of Research

The *Education Quarterly Reviews* is an Open Access publication. It may be read, copied, and distributed free of charge according to the conditions of the Creative Commons Attribution 4.0 International license.

The Asian Institute of Research *Education Quarterly Reviews* is a peer-reviewed International Journal. The journal covers scholarly articles in the fields of education, linguistics, literature, educational theory, research, and methodologies, curriculum, elementary and secondary education, higher education, foreign language education, teaching and learning, teacher education, education of special groups, and other fields of study related to education. As the journal is Open Access, it ensures high visibility and the increase of citations for all research articles published. The *Education Quarterly Reviews* aims to facilitate scholarly work on recent theoretical and practical aspects of education.





The Asian Institute of Research Education Quarterly Reviews

Vol.4 Special Issue 1: Primary and Secondary Education, 2021: 571-583 ISSN 2621-5799

Copyright © The Author(s). All Rights Reserved DOI: 10.31014/aior.1993.04.02.267

# Analyzing School Attachment of Secondary School Students' for Regards to Various Variables

Metin Işık1 & İsa Bahat2

Correspondence: Metin Işık, Kırşehir Ahi Evran Üniversitesi, Kırşehir, 40100, Turkey. E-mail: isik.metin@ahievran.edu.tr

### Abstract

The purpose of this study is to investigate whether school attachment levels of secondary school students change according to gender, class level, family income level, academic achievement, parents' age level, parents' job and parents' education level variables or not. The sample of the study consists of 382 (211 female, 171 male) students studying in 5th, 6th, 7th and 8th grades of two secondary schools in Beylikdüzü district of Istanbul in the 2019-2020 academic year. In this study, the "Personal Information Form" developed by the researcher and the "School Attachment Scale for Children and Adolescents" adapted to Turkish by Savi (2011) were used as data collection tools. T-test for binary variables and ANOVA statistical technique for multiple variables were used. According to the findings of the study, there was no significant difference between the variables of gender, academic achievement, parents' age level, mother's job, family income level and father's education level. However, A significant difference was found between the groups in the variables of the class level of the student, father's job and mother's education level. The findings were discussed and suggestions presented.

Keywords: School Attachment, Academic Achievement, Student

# 1. Introduction

Education is a complex process consisting of different variables. It is known that emotional processes contribute greatly to achieving educational goals during this period. The environment where the individual establishes the most relationship and interaction with others in the school. Therefore, school has a great and effective place in individuals' lives. The happier life of individuals in the future differs according to their education level (Alaca, 2011). School is the first environment where students socialize and begin to acquire the skills they need to adapt to society (Bellici, 2015). The quality of the process experienced at school affects the student's commitment to the school as they prepare the students for their future lives.

Driving students forward, the quality of the process experienced at school is one of the factors affecting student attachment to the school (Kalaycı & Özdemir, 2013). However, the school is considered successful as long as it

<sup>&</sup>lt;sup>1</sup> Kırşehir Ahi Evran University, Kırşehir, Turkey. ORCID: 0000-0002-0890-6267

<sup>&</sup>lt;sup>2</sup> Kırşehir Ahi Evran University, Kırşehir, Turkey. ORCID: 0000-0002-5600-2449

provides individuals to learn the subjects they need in order to be able to socialize and be happy (Yavuzer, 2002). The school, which has a great place in the development of every person and where the education and training process takes place, offers a protective environment for children. It also has the ability to reduce the likelihood of individuals exhibiting negative behaviors (Jackson & Warren, 2000). Learning is essential in developing selfactualization and competencies. Therefore, it is necessary to complete school education for the academic, personal and professional life of the individual (Garnier., Stein & Jacobs, 1997). It is necessary to establish positive relationships at school, for healthy development and adaptation to the school (Hepler, 1997). New bonds emerge with the school life, where children are separated from their families for the first time. Attachment to the school as a student's feeling of belonging to the school and embracing its goals (Finn, 1993) includes not only a simple liking or warmth, but also respect and support for the individual autonomy of the student (Goodenow, 1992). School attachment plays a protective role in students against negativities such as orientation towards negative behaviors towards school and personal inadequacy (Özdemir, 2015). Especially the communication of students based on trust with their parents will reflect positively on their bonding. Attachment creates a strong emotional system with the emotional bonds of individuals to the people they care about (Bowlby, 2012). Students' negative behaviors at school and the attitudes of school stakeholders (administrator, teacher and student) about the problems they experience have positive or negative effects on school attachment. For this reason, measures should be taken to evaluate the school as a whole, to increase the interaction between stakeholders and to solve problems (Antle, 2004).

Indicators of students' commitment to school are feeling themselves belonging to the school, accepting themselves as part of the school and having positive feelings about the school (Balkıs, E. Duru, Bulus, & S. Duru, 2011), and in a sense, the students should not feel the need to be elsewhere when they are at school. It is predicted that the strong emotional (Bowlby, 1988) attachment relationship between individuals and people they care about is not only a determinant of childhood, but also a process that affects the individual and the relationships they establish in later life (As cited in Ainsworth, 1989 Altuntas & Sezer, 2017). Part of the primary effective school life includes adolescence for interacting with society, communication skills, forming peer groups and self-development (Henry & Slater 2007). The sense of attachment to the group, which is an important feeling for social development in adolescents, meets a psychological need (Osterman, 2000). Parents, teachers and friends are important sources of motivation in the lives of adolescents (Yıldırım, 1997). Since students' compliance with school rules will be supported by their friends and teachers, this attitude will positively affect the level of students' school attachment (Karababa., Oral & Dilmaç, 2018). All stakeholders of the school, which they interact with as much as they do, are effective in connecting students to the school. Naturally, the school stands out with the realization of high interaction as the social areas where students live the longest. According to Doğan (2015), like every human being, the student interacts as a social being, especially by communicating with their peers. It interacts with the members of the community in which it lives in order to meet the wishes and expectations of the basic needs of people. As a result of these interactions, they expect to belong to the environment, environment, person and group they live in, to be approved and adopted by them (Yazgan İnanç & Yerlikaya, 2010). Belonging to a group, being connected to its members means meeting the needs of students such as being accepted and supported by their class and school. Therefore, school attachment fosters positive feelings of students towards themselves and contributes to their integration with friends, teachers and other school stakeholders (Sarı & Özgök, 2014). In evaluating each student's education and school background, the quality of the school and their interactions with their friends and teachers should also be taken into account.

Individuals' experiences such as their interactions with their teachers, friends, participation in classes, extracurricular activities, skills and knowledge gained around the school play a big role in their lives. For this reason, the individual's attachment to the school is necessary for his development. For school attachment, students' attendance to classes and school also includes feelings of commitment towards the school. Although the obligation to attend school is provided by legal regulations in our country, this situation has not eliminated the problem of students being connected to the school (Önen, 2014).

Attending or being absent from school is a situation that occurs due to students' subjective attitudes toward school. The developmental period of the children is necessary for the emergence of this situation. According to Koç (2004), for middle school students, there may be a change in feelings and thoughts about school during

adolescence that starts at this school level. It is seen that the changes individuals experience depending on the values formed during this period also affect their education and their feelings towards school. Thanks to the protective feature of the sense of school attachment, students' negative behaviors such as absenteeism are reduced (Nichols, 2008). Especially considering the age and developmental periods of the students, it is important to establish relationships that will support motivation, competence, success, acceptance and support in a positive way (Goodenow, 1992). As a matter of fact, according to Yavuzer (2004), acceptance of children by their friends at this age enables them to gain self-confidence and strengthen their self-worth. Thus, they feel themselves as a part of the school and get away from negative behaviors and establish more positive relationships with their teachers and friends.

School attachment has important consequences for students' school life and future; influences young people's behavior and academic achievement (Hirschi, 2002). School attachment, sense of school belonging (Goodenow, 1991), the popularity of the student among his / her friends at school positively affects their school attachment and learning (Dworkin, 1987). As a psychological need, students' feeling of belonging to a group (Osterman, 2000), being valued and respected within this group increase attachment. Meeting the social needs of students increases their attachment to and belonging to the school. When the motivation for learning is not provided, school attachment weakens. Appreciation of children at school at an early age ensures that they are connected to the school throughout their school life (Goodenow, 1991). Alienation from the school environment reflects negatively on students' behavior. School attachment reduces the negativity of adolescence and increases academic success (Sharkey, You, & Schnoebelen, 2008). Attachment, which emerges mostly in emotional needs during adolescence and can be experienced as sharing feelings with the communicated person, is that adolescents move away from their parents and tend towards their friends (Damarli, 2006). One of the factors influencing the academic status of students is school attachment (Mouton., et al., 1996). Adolescence is the period in which students experience the most intense psychological and emotional changes. In particular, the awareness of the school administration and teachers of this period, knowing and meeting the individual needs of the students will prevent possible problems by ensuring that they are connected to the school. Academic achievement stands out among students' goals for school. School attachment affects students' academic success and there is a linear relationship between them.

The concepts of school engagement and school attachment are used in the same sense as joining in schoolrelated activities inside the school, valuing the goals of the school, and identifying with the school. Attachment includes an individual's active participation in a task or activity (Fredricks, Blumenfeld, & Paris, 2004) and the behavioral intensity and emotional qualities in this participation process (Reeve et al., 2004). School attachment can also be defined as being related to the school and feeling belonging to the school (Libbey, 2004). According to Covell (2010), attachment includes students' to be in education and training practices and in-school practices, their positive feelings towards their other stakeholders. The concept of school attachment; is considered important in preventing undesirable situations in the school and classroom environment such as students' failure, school drop out rate, alienation, boredom (NRCIM, 2004). School attachment creates an environment where students can express themselves freely and reduces personal anxiety by strengthening social interaction (Hill & Werner, 2006). If psychological needs such as autonomy, belonging, competence are met, school engagement takes place in three different dimensions. These dimensions can be expressed as an affective, behavioral and cognitive attachment (Cengel., Totan, & Cöğmen, 2017). School administrators, teachers, friends and their relationships with other people around the school are effective on the level of students' school attachment. The student's interactions with other people in the school will make him or her feel positive towards the school (Kızılay, 2008).

Practices in education are becoming increasingly widespread with an individual-priority approach (Yıldız & Kılıç, 2020). According to Thompson (2005), environmental factors and stakeholders directly affect the transformation of students in the education and training process. School engagement, which can be expressed as school enjoyment and devotion to the school, is one of the factors required for participation in academic activities and academic development (Fredricks et al., 2004). Education services are offered to individuals in schools as an environment where education is provided that is effective in the development of individuals. The quality of education has a lasting effect on students' interactions and experiences at school, their academic

success and future (Haynes, Emmons & Ben-Avie, 1997). School engagement is associated with a greater appreciation of school and education, greater participation in classroom academic activities (Adelabu, 2007; Cemalcilar, 2010). As school engagement increases, its contribution to the expected behavior development process at school will also increase. It is also seen as an important factor in reducing misbehavior in school (Ünal & Çukur, 2011). According to Bergin & Bergin (2009), some school policies and procedures can facilitate or weaken school attachment. Making interventions throughout the school, providing a different of social activities that students can access, keeping schools small, ensuring the continuity of people and space, facilitating transition to new schools, and ensuring in-and-out transitions affect school attachment. (Furlong & Christenson, 2008). Wehlage et al. (1989) stated that students are affected by the factors of commitment to classmates, compliance with school norms, participation in school activities and reliance in the competence of the school and commitment to education.

School attachment affects students' academic success (Calabrese, 1987). It is seen that negativities such as socioeconomic inadequacies, low parental education level, absence from school, family unrest, being a minority,
substance use negatively affect students' school attachment and success (McWhirter eet al. 1993). It is observed
that most of the students who feel deficient in school attachment are unable to focus on studying, the lessons are
not interesting, they spend time with friends who are not related to the school (Hupfeld, 2007), low income and
students with high academic success have high levels of school attachment (Conchas, 2001). Nowadays, students
spend most of their time at school, students are prepared for exams with intensive education programs at all
levels from the beginning of their education and training life to the process of having a profession. The priority
of families and students is seen as academic success. According to Pereira (2015), Family, relationships with
teachers, friendship, personal characteristics, psycho-social processes and school can be determinants in students'
academic success (de Carstro and Pereira, 2019). School attachment is about success and persistence in school as
well as positive academic outcomes (Fredricks, Blumenfeld & Paris, 2004). Supportive teachers and peers in the
school context as an open space for students' personal choices contribute to a higher commitment (behavioral,
emotional or cognitive) to stimulating and specific tasks.

It is observed that students supported by their peers and encouraged by their teachers who are encouraged by their parents develop their feelings of belonging to the school, love, success, trust and attachment (Özdemir, Yalın & Sezgin, 2008). As students gain confidence in the school, their communication with friends, relationships, and attachment to their teachers and school also increase (Özdemir, Sezgin, Şirin, Karip & Erkan, 2010). Therefore, parents should always support their children, knowing that they will spend a long time at school, to be more interested in them, to feel better in the school environment and to positively affect their sense of school attachment.

The knowledge and skills students gain with education and training environment, their contacts with their friends, to be participate in lesson activities and similar behaviors play a very important role in their future life. In this respect, school and its commitment are important for the individual's multidirectional development (Önen, 2014). That's why it is essential to understand how students' attachment is affected over the years of school (Duy and Yıldız, 2014). School engagement, which contributes to the student's positive behaviors, academic success and etc., is considered very important because it is the key to solving the problems of low achievement, alienation from school, dropout and dropout (Anderson, et al., 2004). As with education' quality, students' life quality at school will turn into a satisfaction that supports their participation in educational activities at school, and will positively affect their behavior towards friends and teachers and their feelings of attachment (Hunt-Sartori, 2007). When the researches are examined, there are different results from each other. The research results show that younger students' level of school attachment is higher than older students; The school attachment level of students with a good family financial situation indicates that the level of school attachment of students with a poor family financial situation is higher. In addition, as the grade level of students increases, the decrease in their level of school attachment indicates that it decreases from primary school to high school. The level of school attachment of students with high academic achievement is higher than the level of students with low academic achievement. School attachment shows that there is a linear and positive relationship between the academic achievements of students with high level of attachment. Successful students see themselves as safe as they adopt the school, and receive love, respect and attention from their friends and

teachers.

In the context of today's educational understanding, school attachment stands out as an important factor especially for students. Accordingly, it would be useful to examine school attachment in terms of children's psychosocial development and to be taken into account in educational research for children of secondary school age. The fact that students with high levels of school attachment are more likely to be academically successful and avoid the hidden dangers of adolescence shows the importance of this study. The purpose of this study is to investigate whether secondary school students' level of school attachment differs according to gender, class level, family income level, academic achievement, parents' age, parents' education level and parents' job variables.

#### 2. Method

Descriptive survey method was used in this study which aims to investigate secondary school students' school attachment in terms of various variables. This method aims to investigate the existing situation. According to Karasar (2003), scanning models are a research approach that aims to describe a past or present situation as it is.

#### 2.1. Participants

The participants of the study are secondary school students studying in Beylikdüzü district of Istanbul. The sample consists of 382 students who were selected by random sampling method in the 5th and 8th grades of a state and a private secondary school in Beylikdüzü district in the 2019-2020 academic year. 211 (55.23%) of the students were female and 171 (44.77%) were male. In the study, an appropriate sampling method was used, which provides convenience in terms of time, money and labor, and is not based on probability, starting from the most accessible unit of the researcher (Büyüköztürk, et al., 2014).

#### 2.2. Instruments

The school attachment level of the students was determined using the "School Attachment Scale for Children and Adolescents" adapted by Savi (2011) into Turkish. At the same time, a "Personal Information Form" was applied to determine the personal characteristics of secondary school students participating in the study.

# **Findings**

The results of the t-test conducted to determine whether the mean scores of the School Attachment Scale for Children and Adolescents differ in terms of gender are given in Table 1.

Table 1: T-Test Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Gender

	Gender	N	X	S	sd	t	р
Attachment	Female	211	4,08	,75	380	-,18	,858
to School	Male	171	4,09	,77			
Attachment	Female	211	3,86	,73	380	-1,93	,055
to teacher	Male	171	4,00	,68			
Attachment	Female	211	4,43	,54	380	,64	,525
to Friends	Male	171	4,40	,57			
Total	Female	211	4,13	,50	380	-,66	,507
Total	Male	171	4,16	,49			

p <.05

As can be seen from Table 1, school attachment levels of students do not differ significantly according to gender in terms of school attachment, teacher attachment, friend attachment and total scores.

Table 2: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Class Level

	Source of Variance	Sum of	sd	Mean	F	p	Significant
		Squares		Square		1	Difference
	Between Groups	6,943	3	2,314	4,077	,007	6.class-
Attachment to	In-Group	214,600	378	568			7.class
School							6.class-
SCHOOL							8.class
	Total	221,543	381				
Attachment to	Between Groups	3,344	3	1,115	2,194	,088	
teacher	In-Group	192,055	378	,508			
teacher	Total	195,399	381				
Attachment to	Between Groups	,848	3	,283	,903	,440	
Friends	In-Group	119,033	380	,313			
Tichus	Total	119,882	383				
	Between Groups	1,340	3	,447	1,800	,147	_
Total	In-Group	92,779	374	,248			
	Total	94,119	377				

p < .05

As can be seen from Table 2, there is no significant difference among the school attachment levels of students in terms of teacher and friend attachment factors and total score levels. However, according to the results of multiple comparisons between groups, a significant difference is found between the groups in the school attachment factor. According to this result, it is seen that 6th grade students 'level of school attachment is higher than 7th and 8th grade students' level of school attachment.

Table 3: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Students' Academic Level

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
Attachment to School	Between Groups	,496	3	,165	,282	,838	
	In-Group	218,830	373	,587			
	Total	219,326	376				_
A 44 1 4 -	Between Groups	2,511	3	,837	1,625	,183	
Attachment to teacher	In-Group	192,157	373	,515			
teacher	Total	194,668	376				
Attachment to	Between Groups	1,143	3	,381	1,214	,304	_
Friends	In-Group	117,734	375	,314			
Trichus	Total	118,877	378				
	Between Groups	,205	3	,068	,271	,846	_
Total	In-Group	93,100	369	,252			
	Total	93,305	372				

p <.05

As can be seen in Table 3, the level of school attachment does not differ significantly according to the academic achievement of the students in terms of school and teacher and friend attachment factors and total scores.

Table 4: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Student's Mother's Age

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
Attachment to School	Between Groups	1,977	3	,659	1,139	,333	
	In-Group	217,550	376	,579			
	Total	219,526	379				
A 441 4 -	Between Groups	,204	3	,068	,131	,941	
Attachment to teacher	In-Group	195,158	376	,519			
teacher	Total	195,363	379				
Attachment to	Between Groups	,940	3	,313	,996	,395	
Friends	In-Group	118,909	378	,315			
FITCHUS	Total	119,849	381				
	Between Groups	,520	3	,173	,692	,557	
Total	In-Group	93,264	372	,251			
	Total	93,785	375				

p <.05

In Table 4, school attachment levels of students do not differ significantly according to the mother age variable of the students in terms of school attachment, teacher attachment, friend attachment factors and total scores.

Table 5: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Students' Father's Age

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
Attachment to School	Between Groups	2,167	3	,722	1,277	,282	
	In-Group	210,975	373	,566			
	Total	213,142	376				
Attachment to	Between Groups	,463	3	,154	,302	,824	
teacher	In-Group	190,830	373	,512			
teacher	Total	191,293	376				
Attachment to	Between Groups	1,281	3	,427	1,372	,251	_
Friends	In-Group	116,710	375	,311			
Trichus	Total	117,991	378				
	Between Groups	1,046	3	,349	1,442	,230	_
Total	In-Group	89,185	369	,242			
	Total	90,231	372				

p <.05

In Table 5, school attachment levels of students do not differ significantly according to the father age variable of the students in terms of school attachment, teacher attachment, friend attachment factors and total scores.

Table 6: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Students' Mother's Job

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
Attachment to	Between Groups	,154	2	,077	,131	,877	
	In-Group	213,721	365	,586			
School	Total	213,875	367				
A 441 4 -	Between Groups	,952	2	,476	,911	,403	
Attachment to teacher	In-Group	190,591	365	,522			
teacher	Total	191,543	367				
Attachment to	Between Groups	,012	2	,006	,019	,981	
Friends	In-Group	114,277	367	,311			
THERUS	Total	114,289	369				
	Between Groups	,067	2	,033	,134	,875	
Total	In-Group	90,014	361	,249			
	Total	90,081	363				

p < .05

In Table 6, school attachment levels of students do not differ significantly according to the mother's job variable of the students in terms of school and teacher and friend attachment factors and total scores.

Table 7: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Students' Father's Job

	Source of Variance	Sum of	ad	Mean	F	n	Significant
		Squares	sd	Square	Г	p	Difference
Attachment to School	Between Groups	2,458	2	1,229	2,109	,123	
	In-Group	215,548	370	,583			
	Total	218,006	372				
A 1	Between Groups	2,096	2	1,048	2,062	,129	
Attachment to teacher	In-Group	188,098	370	,508			
teacher	Total	190,194	372				
A 441 4 -	Between Groups	1,444	2	,722	2,306	,101	
Attachment to	In-Group	116,427	372	,313			
Friends	Total	117,870	374				
	Between Groups	1,696	2	,848	3,445	,033	
Total	In-Group	90,085	366	,246			
	Total	91,781	368				

p < .05

As can be seen in Table 7, there is no significant difference among the school attachment levels of students in terms of school attachment, teacher attachment and friend attachment factors. However, according to the results of multiple comparisons between groups, there is a significant difference in the total score level between the groups. According to this result, it is seen that the students whose fathers are in the other profession group have higher levels of school attachment than the students whose fathers are in the special profession group.

Table 8: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of Family Income Level of Students

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
A	Between Groups	2,773	3	,924	1,596	,191	
Attachment to	In-Group	165,028	285	,579			
School	Total	167,801	288				
Attachment to	Between Groups	3,432	3	1,144	2,247	,083	
	In-Group	144,564	284	,509			
teacher	Total	147,997	287				
A tto alamout to	Between Groups	,507	3	,169	,512	,674	
Attachment to Friends	In-Group	94,093	285	,330			
rnenas	Total	94,600	288				
	Between Groups	1,180	3	,393	1,498	,215	
Total	In-Group	74,052	282	,263			
	Total	75,232	285				

p <.05

As can be seen in Table 8, school attachment levels of students do not differ significantly according to the family income level variable in terms of school and teacher and friend attachment factors and total scores.

Table 9: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of the Mother's Education Level

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
	Between Groups	6,100	4	1,525	2,669	,032	University-
	In-Group	215,443	377	,571			Primary
Attachment to							School
							University-
School							High
							School
	Total	221,543	381				
A tto alam ant to	Between Groups	1,785	4	,446	,869	,483	
Attachment to teacher	In-Group	193,613	377	,514			
teacher	Total	195,399	381				
Attachment to	Between Groups	1,383	4	,346	1,106	,354	
Friends	In-Group	118,499	379	,313			
riienas	Total	119,882	383				
	Between Groups	2,086	4	,522	2,114	,078	
Total	In-Group	92,033	373	,247			
	Total	94,119	377				

p < .05

As can be seen from Table 9, there is no significant difference among the school attachment levels of students in terms of teacher and friend attachment factors and total score levels. However, according to the results of multiple comparisons between groups, a significant difference is found between the groups in the school attachment factor. According to this result, it is seen that the level of school attachment of students whose mothers are university graduates is higher than students whose mothers are primary and high school graduates.

Table 10: ANOVA Results on the Comparison of School Attachment Scale Scores for Children and Adolescents in Terms of the Father's Education Level

	Source of Variance	Sum of Squares	sd	Mean Square	F	p	Significant Difference
Attachment to	Between Groups	2,095	4	,524	,900	,464	
	In-Group	219,449	377	,582			
School	Total	221,543	381				
A 1	Between Groups	,866	4	,217	,420	,794	
Attachment to	In-Group	194,533	377	,516			
teacher	Total	195,399	381				
A 440 oleme om 4 40	Between Groups	1,693	4	,423	1,357	,248	
Attachment to Friends	In-Group	118,188	379	,312			
rnenas	Total	119,882	383				
	Between Groups	1,059	4	,265	1,061	,375	
Total	In-Group	93,060	373	,249			
	Total	94,119	377				

p < .05

As can be seen in Table 10, school attachment levels of students do not differ significantly according to the father's education level variable in terms of school attachment, teacher attachment, friend attachment factors and total scores.

#### 4. Discussion

In this study, the school attachment levels of secondary school students were investigated according to demographic variables. In this study, it was determined that the views of secondary school students were similar and there was no significant difference in terms of attachment to school, attachment to teacher, attachment to friend and total scores according to the variables of gender, academic achievement, parents' age, parents' job, family income level and father education level. With this result, when the average scores  $(\bar{X})$  of all variables were analyzed, it was determined that all of the scores were above average, they were effective in school attachment and all factors, and increased the level of school attachment.

When the research findings are evaluated; There was no statistically significant difference between male and female students in terms of school attachment. This result is similar to other studies showing that there is no difference in the level of school attachment by gender (Somers and Gizzi, 2001; Wei ve Chen, 2010; Duy and Yıldız, 2014; Altuntaş and Sezer, 2017; Yıldız and Kılıç, 2020). The fact that the academic achievement levels of the students studying at the schools where this study was conducted are medium and above (70-100 points range) causes the groups to show similarities in terms of students' school attachment levels. It is observed that problems such as anxiety, loneliness and absenteeism are low among students with a high level of school attachment, while intrinsic motivation and academic success are high (Cemalcular, 2010). The most important part of connecting to school is the connection with friends. Students' interaction and communication with each other and with their teachers is very important for education. Because teachers are very effective in the school environment and they affect students at cognitive and affective levels (Wang & Eccles, 2013).

When the opinions of the participant students in the study were investigated, a significant difference was found between the groups in the factor of school attachment according to the level of the class they studied. According to this result, it is seen that the level of school attachment of 6th grade students is higher than the level of school attachment of 7th and 8th grade students. There is no significant difference among the school attachment levels of the students in terms of teacher attachment, friend attachment factors and total score levels. When the literature is examined, it has been determined that school attachment increases as the grade level decreases (Wei & Chen, 2010; Bellici, 2015; Yıldız & Kılıç, 2020).

When the views of the students participating in the study were investigated, a significant difference was found between the groups in the total score levels of the students according to the father's job. According to this result,

it is seen that the students whose fathers are in the other profession group have higher levels of school attachment than the students whose fathers are in the special profession group. There is no significant in terms of school attachment, teacher attachment and friend attachment factors difference among the school attachment levels of students.

When the opinions of the participant students were investigated, a significant difference was found between the groups in the school attachment factor according to the students' mother's education level. According to this result, it is seen that the level of attachment of the students whose mothers graduated to the school is higher than the students whose mothers are primary and high school graduates. There is no significant difference among the school attachment levels of students in terms of teacher attachment, friend attachment factors and total score levels.

It is stated that school attachment has a positive relationship with educational outcomes such as achieving academic success (LeCroy & Krysik, 2008); positive feelings towards school, active participation in different efficiencies at school (Thompson, 2005), and a decrease in the likelihood of committing crimes (Owens-Sabir, 2007) and engaging in risky behaviors. Besides, with the well-being of adolescent and children, decrease in the degree of anxiety, loneliness, school absenteeism in students (Savi, 2011); It also helps to increase autonomy, positive social behavior, intrinsic motivation, and academic achievement (Cemalcilar, 2010). Considering the importance and consequences of school attachment, it can be investigated with students of all age levels at different types of schools and levels, and with different variables.

#### References

- Adelabu, D. D. (2007). Time perspective and school membership as correlates to academic achievement among African American adolescents. *Adolescence*, 42(167), 525-538.
- Anderson, A. R., Christenson, S. L., Sinclair, M. F. & Lehr, C. A. (2004). Check and connect: The importance of relationships for promoting engagement with school. *Journal of School Psychology*, 42, 95-113. DOI:10.1016/j.jsp.2004.01.002
- Antle, B. J. (2004). Factors associated with self-worth in young people with physical disabilities. *Health and Social Work* 29(3), 167-175.
- Appleton, J. J., Christenson, S. L., Kim, D., & Reschly, A. L. (2006). Measuring cognitive and psychological attachment: Validation of the Student Attachment Instrument. *Journal of school psychology*, 44(5), 427-445. DOI:10.1016/j.jsp.2006.04.002
- Arastaman, G. (2009). Lise birinci sınıf öğrencilerinin okula bağlılık durumlarına ilişkin öğrenci, öğretmen ve yöneticilerin görüşleri. *Pamukkale University Journal of Education*, 26, 102-112.
- Altuntaş, S. & Sezer, Ö. (2017). Ortaokul Öğrencilerinin Okula Bağlanmalarının İncelenmesi, *Inonu University Journal of The Faculty of Education*, 18(1), ss. 83-97. DOI: 10.17679/inuefd.295722
- Balkıs, M., Duru, E., Buluş, M. & Duru, S. (2011). Tükenmişliğin öğretmen adayları arasındaki yaygınlığı, demografik değişkenler ve akademik başarı ile ilişkisi. *Pamukkale University Journal of Education*, 29(29), 151-165.
- Bellici, N. (2015). Ortaokul öğrencilerinde okula bağlanmanın çeşitli değişkenler açısından incelenmesi. *Bolu Abant Izzet Baysal University Journal of Faculty of Education*, 15(1), 48-65.
- Bergin, C. & Bergin, D. (2009). Attachment in the classroom. Educational Psychology Review, 21(2), 141-170.
- Booker, K. C. (2006). School belonging and the African American adolescent: What do we know and where should we go? *The High School Journal*, 89(4), 1-7.
- Bowlby, J. (1988). A Secure Base: Clinical Applications of Attachment Theory. London: Routledge
- Bowlby J. (2012). Bağlanma (T. V. Soylu Trans.). Pinhan Yayınları.
- Büyüköztürk, Ş., Çakmak, E. K., Akgün, Ö. E., Karadeniz, Ş. & Demirel, F. (2008). *Bilimsel Araştırma Yöntemleri*. Ankara: Pegem Akademi.
- Calabrese, R. L. (1989). Student alienation and academic achievement. The Education Digest, 54 (9),7-9.
- Cemalcilar, Z. (2010). Schools as socialization contexts: Understanding the impact of school climate factors on students' sense of school belonging. *Applied Psychology: An International Review, 59*(2), 243-272.
- Conchas, G. (2001). Structuring failure and success: Understanding the variability in Latino school engagement. *Harvard Educational Review*, 71(3), 475-505.
- Covell, K. (2010). School engagement and rights-respecting schools. *Cambridge Journal of Education*, 40(1), 39–51.
- Çengel, M., Totan, T. & Çöğmen, S. (2017). Okula bağlılık ölçeğinin Türkçeye uyarlanması. Bolu Abant Izzet

- Baysal University Journal of Faculty of Education, 17(4), 1820-1837.
- de Castro, R. M. & Pereira, D. I. F. (2019). Education and attachment: Guidelines to prevent school failure. *Multimodal Technol. Interact*, 3, 10. DOI: 10.3390/mti3010010
- Damarlı Ö. (2006). Ergenlerde toplumsal cinsiyet rolleri, bağlanma stilleri ve benlik kavrami arasındaki ilişkiler (Master Thesis). Ankara University Institute of Social Sciences Department of Social Psychology, Ankara.
- Duy, B. & Yıldız, M. A. (2014). Farklı zorbalık statüsüne sahip erinlerde okula bağlanma ve yalnızlık. *Education and Science*, *39*(174).
- Finn, J. D. (1993). Student engagement and student at risk. Washington, DC: National Center for Education Statistics.
- Fredricks, J., Blumenfeld, P., & Paris, A. H. (2004). School engagement: potential of the concept, state of the evidence. *Review of Educational Research*, 74, 59–109.
- Furlong, M. J., & Christenson, S. L. (2008). Engaging students at school and with learning: A relevant construct for all students. *Psychology in the Schools*, 45(5), 365-368. DOI:10.1002/pits.20302
- Garnier, H. E.; Stein, J. A. & Jacobs, J. K. (1997). The process of dropping out of high school: A 19-year perspective. *American Educational Research Journal*, *34*, 395–419.
- Goodenow, C. (1992). Strengthening the links between educational psychology and the study of social contexts. *Educational Psychologist*, 27(2), 177-196.
- Guay, F., Denault, A. S., & Renauld, S. (2017). School attachment and relatedness with parents, friends and teachers as predictors of students' intrinsic and identified regulation. *Contemporary Educational Psychology*, 51, 416-428. DOI: 10.1016/j.cedpsych.2017.10.001
- Haynes, N. M., Emmons, C., & Ben-Avie, M. (1997). School climate as a factor in student adjustment and achievement. *Journal of Educational and Psychological Consultation*, 8(3), 321-329. DOI: https://doi.org/10.1207/s1532768xjepc0803 4
- Hepler, J.B. (1997). Social development of children: The role of peers. *Social Work in Education*, 19(4), 242-256.
- Hill, L. G. & Werner, N. E. (2006). Affiliative motivation, school attachment, and aggression in school. *Psychology in the Schools*, 43(2), 231-246.
- Hirschi, T. (2002). Causes of delinquency. Transaction Publishers.
- Hupfeld, K. (2007). Resiliency Skills and Dropout Prevention. Success Highways, Scholar Centric: Denver.
- Jackson, Y. & Warren, J. S. (2000). Appraisal, social support and life events: Predicting outcome behavior in school age children. *Child Development*, 71(5), 1441-1457.
- Johnson, M. K., Crosnoe, R., & Thaden, L. L. (2006). Gendered patterns in adolescents' school attachment. Social Psychology Quarterly, 69(3), 284-295. DOI: 10.1177/019027250606900305
- Kalaycı, H., & Özdemir, M. (2013). Lise öğrencilerinin okul yaşamının niteliğine ilişkin algılarının okul bağlılıkları üzerine etkisi [The influence of students' perceptions toward quality of school life on their school attachment]. *Gazi University Journal of Educational Faculty, 33*(2), 293-315. DOI: 10.17152/gefad.373216
- Karababa, A., Oral, T., & Dilmaç, B. (2018). Ortaokul öğrencilerinde okula bağlılığın yordanmasında algılanan sosyal destek ve değerin rolü [The role of perceived social support and value in prediction of school attachment among secondary school students]. *Hacettepe University Journal of Education*, 33(2), 269-279. DOI: 10.16986/huje.2017028440
- Karasar, N. (2003). Bilimsel Araştırma Yöntemi. Ankara, Nobel Yayın Dağıtım.
- Kızılay, M. (2008). İlköğretim okullarında ikinci kademe öğrencilerin okula bağlılık durumlarına ilişkin öğrenci ve öğretmen görüşleri. (Master thesis), Yeditepe University, İstanbul.
- Koç, M. (2004). Gelişim psikolojisi açısından ergenlik dönemi ve genel özellikleri, *Journal of Erciyes Academy*, 17(2), 231-256.
- LeCroy, C. W.& Krysik, J. (2008). Predictors of academic achievement and school attachment among Hispanic adolescents. *Children and Schools*, 30, 197-210.
- Libbey, H. P. (2004). Measuring student relationships to school: Attachment, bonding, connectedness, and engagement. *Journal of School Health*, 74(7), 274-283.
- McGraw, K., Moore, S., Fuller, A., & Bates, G. (2008). Family, peer, and school connectedness in final year secondary school students. *Australian Psychologist*, 43, 27-37.
- McWhirter, J., J., McWhirter, B., T., McWhirter, A., M. & McWhirter, E. A. (1994). High- and low-risk characteristics of youth: the five Cs of competency. *Elementary School Guidance & Counseling* 28(3), 188-196.
- Mouton, S. G., Hawkins, J., McPherson, R. H. & Copley, J. (1996). School attachment: Perspectives of low-attached high school students, *Educational Psychology*, *16*(3), 297-304. DOI: 10.1080/0144341960160306
- National Research Council & Institute of Medicine. (2004). *Engaging Schools: Fostering High School Students' Motivation to Learn*. Washington, DC: National Academy Press.
- Nichols, S. L. (2008). An exploration of students' belongingness beliefs in one middle school. The Journal of

- Experimental Education, 76(2), 145–169.
- Osterman, F.K. (2000). Students' need for belonging in the school community. *Review of Educational Research*. 17(3), 323-367.
- Owens-Sabir, M. (2007). The Effecets of Race, and Family Attachment on Self- Esteem, Self- Control And Juvenile Delinquency. New York, LFB Scholarly Pub.
- Önen, E. (2014). Öğrencinin okula bağlılığı ölçeği: Türk ortaokul ve lise öğrencileri için uyarlama çalışması. *Turkish Psychological Counseling and Guidance Journal*, 5(42), 221-234.
- Özdemir, S., Yalın, H. İ. ve Sezgin, F. (2008). Eğitim Bilimine Giriş. Ankara: Nobel Yayın Dağıtım.
- Özdemir, S., Sezgin, F., Şirin, H., Karip, E. ve Erkan, S. (2010). İlköğretim Okulu Öğrencilerinin Okul İklimine İlişkin Algılarını Yordayan Değişkenlerin İncelenmesi, *Hacettepe University Journal of Education*, 38, 213-224.
- Özdemir, Y. (2015). Ortaokul öğrencilerinde okul tükenmişliği: Ödev, okula bağlilik ve akademik motivasyonun rolü, *Adnan Menderes University Faculty of Education Journal of Education Sciences*, 6(1), 27-35.
- Pilkauskaite-Valickiene, R., Zukauskiene, R., & Raiziene, S. (2011). The role of attachment to school and open classroom climate for discussion on adolescents' school-related burnout. *Procedia Social and Behavioral Sciences*, 15, 637–641.
- Reeve, J., Jang, H., Carrell, D., Jeon, S., & Barch, J. (2004). Enhancing students' engagement by increasing teachers' autonomy support. *Motivation and Emotion*, 28(2), 147-169
- Rogers, C. R., Guyer, A. E., Nishina, A., & Conger, K. J. (2018). Developmental change in sibling support and school attachment across adolescence. *Journal of Research on Adolescence*, 28(4), 858-874. DOI: 10.11 11/jora.12370
- Rogers, A. A., Updegraff, K. A., Iida, M., Dishion, T. J., Doane, L. D., Corbin, W. C., Van Lenten, S. A., & Ha, T. (2018). Trajectories of positive and negative affect across the transition to college: The role of daily interactions with parents and friends. *Developmental Psychology*, 54(11), 2181-2192. DOI: 10.1 037/dev0000598
- Scott, E. C. (2018). Contextual predictors of adolescent attachment to school in an urban sample. ProQuest Dissertations Publishing
- Sharkey, J. D., You, S., & Schnoebelen, K. (2008). Relations among school assets, individual resilience, and student engagement for youth grouped by level of family functioning. *Psychology in the Schools*, 45(5), 402-418.
- Simons-Morton, B. G., & Crump, A. D. (2003). Association of parental involvement and social competence with school adjustment and attachment among sixth graders. *Journal of School Health*, 73(3), 121-126. DOI: 10.1111/j.1746-1561.2003.tb03586.x
- Somers, C. L. & Gizzi, T. J. (2001). Predicting adolescents' risky behavior: The influence of future orientation, school involvement and school attachment. *Adoles and Family Health*, 2, 3–11.
- Song, H., Thompson, R. A., & Ferrer, E. (2009). Attachment and self-evaluation in Chinese adolescents: Age and gender differences. *Journal of Adolescence*, *32*(5), 1267-1286. DOI: 10.1016/j.adolescence. 2009.01.001
- Suzanne G. Mouton, Jacqueline Hawkins, Robert H. McPherson & Juanita Copley (1996) School attachment: Perspectives of low-attached high school students, *Educational Psychology*, 16(3), 297-304, DOI: 10.1080/0144341960160306
- Thompson, S. (2005). Engaging students with school life. Youth Studies Australia, 24(1).
- Ünal, H., & Çukur, C. Ş. (2011). The effects of school bonds, discipline techniques in school and victimization on delinquency of high school students. *Educational Sciences: Theory & Practice*, 11(2), 547-570.
- Varela, J. J., Zimmerman, M. A., Ryan, A. M., Stoddard, S. A., & Heinze, J. E. (2018). School attachment and violent attitudes are preventing future violent behavior among youth. *Journal of Interpersonal Violence*. DOI: 10.1177/0886260518800314
- Wang, M. T., & Eccles, J. S. (2013). School context, achievement motivation, and academic attachment: A longitudinal study of school attachment using a multidimensional perspective. *Learning and Instruction*, 28, 12-23. DOI: 10.1016/j.learninstruc.2013.04.002
- Wehlage, G. G., Rutter, R. A., Smith, G.A., Lesko, N. & Fernandez, R. R. (1989). *Reducing the Risk;* Falmer: New York, NY, USA.
- Wei, H. S., & Chen, J. K. (2010). School attachment among Taiwanese adolescents: The roles of individual characteristics, peer relationships, and teacher well-being. *Social Indicators Research*, *95*(3), 421-436. DOI: 10.1007/s11205-009-9529-3
- Yıldırım, İ. (1997). Algılanan sosyal destek ölçeğinin geliştirilmesi, güvenirliği ve geçerliliği. *Hacettepe University Journal of Education*, 13, 81-87.
- Yıldız, V. A. & Kılıç, D. (2020). Investigation of School Burnout and School Attachment among Secondary School Students, *Educational Sciences: Theory and Practice*, 20(3), 44-55. DOI: 10.12738/jestp.2020.3.004
- Yavuzer, H. (2002). Cocuk Psikolojisi. İstanbul: Remzi Kitapevi.